V-Twin Mfg.
Solo Seat Mount Kit
Fits 1958-1984 BT W/2" Hairpin Springs
Includes Nose Bracket, Chrome Springs & Rear Mount
VT No. 31-0606
This is a custom application and rider safety depends on proper installation. This product should only be
installed by a knowledgeable and trained motorcycle technician. V-Twin Mfg. accepts no responsibility for
improper installation.

Installation Instructions:

1. Mount the front seat U-clamp ( 31-0174) to the frame using the supplied hardware.
2. Mount the three piece bracket set (31-4059) to the frame using the supplied hardware.
3. Mount the front portion of the seat to front mount bracket using the 3/8x 1” carriage bolt.
4. Mount the the two hairpin springs to the rear of the seat using the supplied hardware.
5. Lower seat on to the studs of rear mounting bracket and secure with supplied hardware.
6. Recheck and torque all bolts and then test ride.
3Bx1
Carriage Bolt =
Lock Nut
ﬁ Hairpin Spring
\ 31-4059 7
\
J
310174 with 318 x 2 a v
1/4 Bolt & Lock Nut . 5/16 X 1% Hex Bolt
Police Seat
5/16 x 3/4 Bolt
with Lock Washer
K-Mode! Seat
l\ *without
@ © ( Cross Brkt.
— 31-0473
31-9982 with
L/ 3/8-24 Lock Nut
-
Copyright©10/2008

Tedd Cycle, Inc



